ADR-P 7%l
FAEZUnEE R

http://www.hzmosen.com

. BIRETRIEBN
B EERkIREIEEFNhR
RS R

n  (RiEfEESS




ADR110-P &%
S
56
L
E{EhH
BRAWERN ( IB{E-1EE )
JEEH
[REEENHEE
FHEREER
(BRI
AR
[E2ISEAAVIES
BRARELEE
FEpR®
FER
FESHT AL
FEHLEEL
HTIRE
HrRE
EFHRE

ADR135-P &%
Hits

R

FEH

(=31=ba)

BRARERN ( IB{E-1E )
AV EE S

[REEENEEE
BRAREEE
(BRI

AR
[E2I=EAAVIES
R

FEpR®

FER®

FESHTAIEEL
FEHLEEL
HTIRE
HrRE
EFHRE
O&iRzEL; | 25 BRE.

http://www.hzmosen.com

Mg

Nm
Nm
Nm
Nm/Arms
Vpeak/rpm
Arms
Arms
W
W
Vdc
ohms
mH
ms
Nm/Sqrt(W)
kg-m2
kg
kg

Mg

Nm
Nm
Nm
Nm/Arms
Vpeak/rpm
Vdc
Arms
W
W
Arms
ohms
mH
ms
Nm/Sqrt(W)
kg-m2
kg
kg

ADR110-P-22

EREX FHEX
16
1.9 1.9
5.8 5.8
0.0022 0.0022
0.65 0.32
0.055 0.028
3.0 6.0
9.0 18.0
28.8 28.8
259.2 259.2
550.0 550.0
3.20 0.80
17.15 4.29
5.36 5.36
0.36 0.36
0.0001463 0.0001463
0.25 0.25
0.88 0.88
ADR135-P-27
EREX FHEX
16
4.5 4.5
13.6 13.6
0.0090 0.0090
1.51 0.76
0.129 0.065
550.0 550.0
9.0 18.0
52.3 52.3
470.6 470.6
3.0 6.0
5.81 1.45
39.51 9.88
6.80 6.80
0.63 0.63
0.0004243 0.0004243
0.45 0.45
1.45 1.45

ADR110-P-45
EREX FHEX
4.2 4.2
12.6 12.6
0.0047 0.0047
1.40 0.70
0.119 0.060
3.0 6.0
9.0 18.0
44.1 43.6
396.9 392.0
550.0 550.0
4.90 1.21
26.26 6.49
5.36 5.36
0.63 0.63
0.0002990 0.0002990
0.40 0.40
1.80 1.80
ADR135-P-54
EREX FHEX
10.3 10.3
31.0 31.0
0.0210 0.0210
3.44 1.72
0.294 0.147
550.0 550.0
9.0 18.0
83.8 83.8
754.1 754.1
3.0 6.0
9.31 2.33
63.31 15.83
6.80 6.80
1.13 1.13
0.0008463 0.0008463
0.90 0.90
3.00 3.00

Akribis




&L
SN
BB

ADR175-P &%
Mg

ERASTERIN (IE{E-IFE )

PREEE
REBTNEFEEL
R
IE{EFER
RN R
IE{EHAThZ
BRARLHRE
FEfR®

BR®
FESEIEEEL
FEHLEE
HTIRE
HTERE
EFRE

e
S22
EES

ADR220-P £#§
s

ERAETENN ( IE{E-18(E )

HEEH
[REEENHBEE
RS
IE{EFRIR
FEAIR
IE{EATh=ER
BRARZEE
FapE®

FER®
SRR
EBHEE
HTIRE
HFRE
EFEE

OLimzERis |, 25 BRE

Akribis

L1}

Nm
Nm
Nm
Nm/Arms
Vpeak/rpm
Arms
Arms
W
W
Vdc
ohms
mH
ms
Nm/Sqrt(W)
kg-m?
kg
kg

L2104

Nm
Nm
Nm
Nm/Arms
Vpeak/rpm
Arms
Arms
W
W
Vdc
ohms
mH
ms
Nm/Sqrt(W)
kg-m2
kg
kg

ADR175-P-36
EREX FHEX
16
14.3 14.3
42.9 42.9
0.0850 0.0850
3.58 1.79
0.306 0.153
4.0 8.0
12.0 24.0
78.6 78.6
707.0 707.0
550.0 550.0
4.91 1.23
42.57 10.64
8.67 8.67
1.61 1.61
0.0024531 0.0024531
1.10 1.10
3.50 3.50
ADR220-P-50
EREX FFEX
24
43.0 43.0
129.1 129.1
0.3340 0.3340
7.97 2.66
0.681 0.227
5.4 16.2
16.2 48.6
169.4 169.4
1524.8 1524.8
550.0 550.0
5.81 0.65
57.62 6.40
9.92 9.92
331 331
0.0092486 0.0092486
2.30 2.30
7.50 7.50

ADR175-

EREX
16
315
94.4
0.1880
7.87
0.672
4.0
12.0
130.9
1177.9
550.0
8.18
70.92
8.67
2.75
0.0048915
2.10
5.90

P-72
FHEX

315
94.4
0.1880
3.93
0.336
8.0
24.0
130.9
1177.9
550.0
2.05
17.73
8.67
2.75
0.0048915
2.10
5.90

ADR220-P-100

EREX
24
91.9
275.8
0.7130
17.02
1.456
5.4
16.2
286.6
2579.8
550.0
9.83
97.48
9.92
5.43
0.0183136
4.50
15.00

http://www.hzmosen.com

FFEX

91.9
275.8
0.7130
5.67
0.485
16.2
48.6
286.6
2579.8
550.0
1.09
10.83
9.92
5.43
0.0183136
4.50
15.00



ADR360-P £
s
R
D
(=21=pa}
ERAETENN ( IE{E-18(E )
HEER
[RFEENHBEE
RS
IE{EFEIR
FEAIR
[E2I=EAIES
BRARLHEE
FBpE®
FER
SRR
EBHEE
HTIRE
HrRE
EfHE

O&mEL , 25 BEKE

http://www.hzmosen.com

=<1y

Nm
Nm
Nm
Nm/Arms
Vpeak/rpm
Arms
Arms
W
W
Vdc
ohms
mH
ms
Nm/Sqrt(W)
kg~m2
kg
kg

ADR360-P-70

EREX

171.0
513.0
1.8600
17.10
1.462
10.0
30.0
292.0
2628.0
550.0
2.92
30.37
10.40
10.01
0.1144768
7.30
17.50

32

FFEX

171.0
513.0
1.8600
8.55
0.731
20.0
60.0
292.0
2628.0
550.0
0.73
7.59
10.40
10.01
0.1144768
7.30
17.50

ADR360-P-140

EREX FEX
32
358.0 358.0
1074.0 1074.0
3.9600 3.9600
35.80 17.90
3.061 1.530
10.0 20.0
30.0 60.0
514.0 514.0
4626.0 4626.0
550.0 550.0
5.14 1.29
53.46 13.36
10.40 10.40
15.79 15.79
0.2272427 0.2272427
13.80 13.80
33.00 33.00



ADR110-P-22

Hall Sensor and Thermal
__SensorCable, 5.2
) 34.0
7.5 22.0

12 x M4x0.7 ¥ 8.0
(éx on front side &
__txonrearside]

_Motor Cable, P7.0

2, 2224405 |
20 T :
ol
M~
o~
NS m& ._,230.. % ~ “5
o o~ 00 o o S
| 0l b o © =
S G e [l ER S
@0
12 x M4x0.7 & 8.0
(6x on front side & !
6x on rear side) 1
SECTION A-A
SCALE1:1.1
ADR110-P-45
Hall Sensor and Thermal
Sensor Cable, $5.2
\ A 57.0
12 x M4x0.7 T 8.0 -— 75 . 450
(6x on front side & \ _Motor Cable, @7.0
éx on reor side) ) I
B % 0.3
| 1
~| I
o ol el ! = =
© 0 0 g =
SRS S _f_"lj -
% =
- !
12 x M4x0.7 I 8.0
(6x on front side &
6xonrearside)] /] 1
SECTION A-A
SCALE 11 1.1
ADR135-P-27
Hall Sensor and Thermal A
.- ~ (A
Sensor Cable, ©5.2 ) "
\ 410 _
12 x M4x0.7 T 8.0 \ Motor Cable, 7.0
(6x on front side & 88 | 279
éx on rear side -
7%% | 05
Lizy, %L
h o
vl o < Q 28.0 o 5
el o W <
= NS ol = ]
ST 4 a IS a
b
93 ! %

12xM4x0.7 T 80 [
(éx on front side & /[

éxonrearside) | A SECTION A-A

4 Akribis — http://www.hzmosen.com



ADR135-P-54

Hall Sensor and Thermal

Sensor Cable, ©5.2 A
o 680
12 % M4x0.7 T 8.0 Motor Cable. 7.0 . a0
(6x on front side & o/ -t :
éxonrearside) \ /
. I
= The T
I < 0.5
]
< I
o Y 3 55.0 ES -
=~ ~ o o <2
o B © S = &
2 el =
O, S
!
1
J—% B
5 gl 1
12xM4x0.7 & 80 / :
(6x on front side & |
6x on rear side) | A SECTION A-A
ADR175-P-36
Hall Sensor and Thermal A
Sensor Cable, ©5.2
B 517 _
12 %X M5x0.8 T 10.0 - Motor Cable, ©8.0 00 360
(6x on front side & I LTl e DON
éx on rear side)
I
-* 24 0.5
- T -
S /‘670 I
i
E 37.0
B IS Y o o
ol o . &
] Il = 0l B | | é 2 (=}
B 8 g 5 0o
= o o =
f)wl R
L. |
o= /
A 1
12 x M5x0.8 ¥ 10.0
(6x on front side & SECTION A-A
6x on rear side)
ADR175-P-72
Hall Sensor and Thermal
Sensor Cable, $5.2 \ A Motor Cable, B8.0 . o
99 | 72.0
i
. tzf A os |
]
i
) 73.0
- - -
) (=] ~ 0
g 9 2 E oo £
f sl s ! =S [=]
L]
1
% ,
) A !
12xM5x0.8 ¥ 120/ i
(éx or t side & SECTION A-A

éxonrearside) | A

http://www.hzmosen.com o q Akribis



ADR220-P-50

Haill Senso)

nd Thermal

et _Motor Cable, ©%.5
/ 10.5 50.0

12 x M5x0.8 ¥ 10.0
(éx on front side &
__ &xonrearside)
~\

Qf/ Zel 10
pi
I
i
Q)
5 52.0
ol @ = = o
3 I g o £
o o = (=1 <
o o 8 82 g
) =l 8 9
1
/ A 1
SECTION A-A

ADR220-P-100

Hall Sensor and Thermal
_Sensor Cable, §5.2

\ Motor Cable, $9.5 X o
12 x M5x0.8 T 10.0 \ Ve _10.5 100.0
(6x on front side & \

éx on rear side)
‘ E%/ o
# }
& 1
| I
o
| 5| - 1020 .
| oo
o 9 | El o &
bl A Y T
5 5 1 2l & g
| g2y
=l <
!
I
’ % % —

SECTION A-A

ADR360-P-70

Hall Sensor and Thermal

Sensor Cable, $5.2
A . - 900 _
12X Méx1.0 T 12.0 _Motor Cable, $9.5 130 | 700 _
éx on frontside & // ' |
éx on rearside - [ I
- 1 i
i %. 0
T
:,‘3 [
450 o
o
2 | 720 |
o o
O o ™ IE o
B9 3 - 28 g
S e & @
i =l ©
!
1
T
12 xMéx1.0 T 12.0 4

6x on frontside &

xonrearside  / A SECTION A-A

4 Akribis — http://www.hzmosen.com



ADR360-P-140

SECTION A-A

SRILT IS
it BS ERFHEX BRI RkRR %
ADR110-P 22/45
ADR135-P 27/54
ADR175-P 36/72 S/P JIK 3.0
ADR220-P 50/100
ADR360-P 70/140
= imEFR

K= PT100 (3%F3F8)

f): ADR175-P-36-S-J-3.

http://www.hzmosen.com




